= o
A & 0l & AF 2 E A A
20198 & =0llah LB & X
SN BMDSD
Hu: BMD=RS 98 1EH 188Y £4
Hel: HASISHM 522 (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
B 10,082,515 4,970,246 5,112,269
s 4,720,000
Al 720,000
- 4,642,515
HMWsg A8 0EH UsEE 24 1,102,109 1,426,207 A 324,098
HMSIESHH R2E2el 350,209 399,938 A49,729
CHar - X2 EE XA 16,000 12,000 4,000
307 21201 A 16,000 12,000 4,000
02 QB AANGFEX 16,000 12,000 4,000
Os-X2t A 4,000,000 =401 16,000
ddsts T2 29 217,570 243,399 225,829
201 Let24d] 155,770 165,020 A9,250
01 At 22/l 155,770 160,020 A4,250
Ogdsrs =ALduy &2t 10,000& =300 3,000
OEMu=EIs sloaasxd
70,0003 x8H 23| 1,120
ogdisstsdy 29 5,000,000& *504 = 25,000
OEEHI (8%, ¥HX S) 11,400
-89 70,0003 x601 x203] 8,400
ERaR=ON 300,000& =103l 3,000
Oddslsat T2 29 83,250
— WA H 150,000& 131+ & +353] 68,250
-sisgeditel 2o 2
150,000& *101+ & 103 15,000
Oastdd =278 2 100,000 *51 & #3023/ 15,000
O=23d el2oatdiol 29 17,000
203 ¥ S =&l 1,800 2,000 2200
03 A=A H 2 =AY 1,800 2,000 A 200
Ogdslg g2 =& 2,000,000& *90% 1,800
301 et d s 60,000 57,500 2,500
12JEEd= 60,000 57,500 2,500
OSI&sMUM & 23 K& 7,500
—EEUN 9 23 1S
150,000& * 103 1,500
—-SsiUM g3 X 20,000& =3003l 6,000
OCtsel Msolestn N& 20,000%253] 500
OEMsts MEH 24 (35RA4 N8 S)
1,000,000 *400H 2 40,000
Oog 2t 600,000& 201 & 12,000
sty AN 18 L AIS 8,000 8,000 0
201 Let24d] 8,000 8,000 0
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AN BHLDFH
B SHSHEE
g2l NS SA28 43 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- 700,000
MEEA2 X2 20,000 50,000 A 30,000
Al 20,000
307 gl2tol & 20,000 50,000 230,000
Al 20,000
02 212t & At 20,000 50,000 A 30,000
OR4Z &t 20,000
Al 20,000
ST M2 HE 6,120,000 810,000 5,310,000
as 4,720,000
Al 700,000
T 700,000
401 Al HIZ 201 8] 6,120,000 810,000 5,310,000
s 4,720,000
Al 700,000
T 700,000
01 A& HI 5,512,000 810,000 4,702,000
O3dEAN alf=| 5,512,000
s 4,251,085
Al 630,457
- 630,458
02 Zeltl 593,000 0 593,000
O8N A 593,000
s 457,346
Al 67,827
- 67,827
03 Al S HHI 15,000 0 15,000
O N2 HE 15,000
s 11,569
Al 1,716
T 1,715
=20H=sE S8 ¢ 2,544,856 2,389,014 155,842
s 243t 2,544,856 2,389,014 155,842
=¥I3YAsLH 2,544,856 2,389,014 155,842
101 @124l 943,170 869, 392 73,778
04 J12tH 22 XS 943,170 869, 392 73,778
OJIZtH=22 940,520
-2 ,000& *30H x128 806,400
-2Es(22d2
400,000 x10.193% 82,197
~ ol
806,400,000& *3.23%*7 . 38% 1,923
-&A=s 50,000
OZ =02t 100,000 x5H 23] 1,000
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AN BYUsD
M ROHSS S8 FUALBA
©?: 2UHE 245t
SA BB O () - NRAY - HES il
ONEXNEX 2R= 150,000& 11 1,650
201 L2l 1,085,936
01 At 22| bl 267,563
OAMEE g2 #¢ 5,000& *300H 1,500
O3JIINE 7L 4003 *4,500% 1,800
Os&E= ¢ M4 MA 3,354
-89 70,000% *30H A 33| 630
-&dEHX S BE2 662,000& *23| 1,324
—AZAA U HHEX S 1,400
OZH2UMSHE SH0IN FZ2L B0
3 A 1,210,000& *13| 1,210
OnZeH(SEI) Xz 90,000& x12& 1,080
OSMEXN 2L 20,000 568 A 1,120
OEUH & =3¢ 3,000
-O2HI(EH,E8) 500, 0003 2l 33| 3,000
Otz =2 180
-2 15,000 x182+12& 180
OFAx & oA 5 AMEE 7
900,000& x12& 10,800
O3 Xtz 247,900 »12& 2,975
OdH=2Y JIet A28 74 10,000
OS2 2 KH(ZAF) AL XHTH 2,250,000& x12& 27,000
OJIZHMZ22X WS (XA
200,000& x5« 13| 1,000
OMSXNEZA ANEnFe 29|
10,000& 11 x93| 990
OZ22X MEEEEE= 33,7503 x8H 270
ogAz 29 12,200
-A 1,400& *4,000%& 5,600
—gA= 11,000 *600Z 6,600
OMIE I 5,000,000& x12& 60,000
OJtHIE 2o HI & M2
2,000,000& x12& 24,000
OHdH2Y M=l 15,000
OXla=I Az 1,100,000 1+ 12& 13,200
O3J18 &I itz 42,0003 x10CH 123 5,040
ONEZH ==& 2,238,880,000& *87%*2.6% 50,644
OIHLEY =2 (HEHA) 1,200
OFX&E AZ2= 20,000
02 3322l 818,373
OZANARS 8,500,000& x12& 102,000
OdIIANEZ 11,750,000& =122 141,000
OHdt=ER3 14,500,000& »12& 174,000
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2N BHISI
M AHRS S8 FUAVEA
el oINS 23 EEREED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Ofolg4u a2 90,000& ~12& 1,080
OLIXEgs sz 198,000& =128 2,376
Q&I MNMEEZ2 150, 000& *33] 450
Onsge 242 1,300, 000& *13] 1,300
ORIIXIA 2,105,400,000& *10%*63% 132,641
O24F HIIZAN ==& 5,090
- S AIJEA 400,000& *13] 400
-4 150, 000& *13] 150
-2 As/otdAA 125,000 20 *23] 500
-2 Ot AA OHE 300,000& *2CH *13] 600
- HSHEAIEH A 180,000& *1CH*23] 360
- 2AAN(=EH) 80,000& *43| 320
—HAAHAAMNMNHEX) 60,000& *13] 60
- otEs84dH oHE XS 2,700,000 *13] 2,700
OIIAHBIAN S 25 Balll
100, 000& *5& 500
OMdz==xX HA 400,000& *23| 800
Odstx A 600, 000& *23| 1,200
OBl A 849 150,000& *12& 1,800
OAaYANEE HIIEE 29 220,000& x12& 2,640
Osd) FINEEX 84 130,000& *12& 1,560
O MEsSdHE AME2 99 89 L Z20eA )|
& Xl 2,196
-89 180, 000& 73] 1,260
-32ta 3| 13,000*60H *123] 936
OMSHE AEHEH SXH 60,000,000 1A 60,000
Oda(ga)2eZ203 SNBSS
450,000 x12& 5,400
OZEHOIX Ity Aoz & 2ol Al
A 29 HS 1,830
Ox=g& sx L EAN0E, 85H HA
1,900, 000& *13] 1,900
OXtsEE A 4,800,000 x3CHx12& 172,800
OXHEREU(3) 230,000& x12& 2,760
OXg HHISA & A2EH(3M)
200,000& x12& 2,400
OXNES A A=42(30) 90,000 *3CH *13] 270
O Xt XA 380
- NS A (1000 =1H) 65,000 *2CH *13] 130
- XS AM (901 L) 250,000& 1L *13] 250
203 ¥ R =&t 1,800 2,000 A 200
03 Al =R 2= Y| 1,800 2,000 A 200
ORDIMSME 45 Y25
2,000,000 x90% 1,800
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Ho Ho Ko
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PPl

o oz
o 0

0x o
for o

ol )
- - . RE!
K- EH3 B (3H) - HSAY - Ba2 e 2
206 M = Hl 5,640 5,340 300
01 & bl 5,640 5,340 300
Oos2gq d#2H 160,000& = 12& 1,920
Ox=g % 3,720
-dMA3 100,000& = 12& 1,200
— A (PHEZE) 100,000& x6& 600
-S&H 160,000& *12& 1,920
301 dEtEAZ 323,060 323,060 0
12 JIEtE &2 323,060 323,060 0
OAMZH2ZA =& 868,4403 *31H »12& 323,060
307 QI2t0| ™ 1,000 1,000 0
06 282 1,000 1,000 0
Otfa2d XIEHl XNII2EZ2 100,000& 109 1,000
401 Al B 20 HI 120,000 100,000 20,000
01 A& HI 120,000 100,000 20,000
O=Z0HMTHE AME ELZA S 120,000
405 XtabF SHI 64,250 48,400 15,850
01 AL 2 EF SHI 64,250 48,400 15,850
ORolg3 I 15,000, 000& *=2CH 30,000
ogAdP 8,850
-] 9AEHE 2,900,000& = 1CH 2,900
-dla Z 2t 2,850,000& = 1CH 2,850
-Xdad 3,100,000& = 1CH 3,100
O A 2,500,000& = 1CH 2,500
OXJE X #¢ 150, 000& *6H4 900
OCCTV 22,000
— Jt0l et 850,000& =14 CH 11,900
—NVR(Z2LIE Z ) 5,000,000& = 1CH 5,000
- TV 5091 X| 2,400,000& = 1CH 2,400
-2LIHZE NVR 2,700,000 =1CH 2,700
UHSALH (BYDSD) 295,550 295,025 525
ol 2 AHY| 208,010 204,317 3,693
ol 2| 208,010 204,317 3,693
101 @121l 208,010 204,317 3,693
02 JIEt& E % 208,010 204,317 3,693
OANZUEHEBHAIHZ2L2E (2H2) 175,212
-28 32,272,000& 4H 129,088
-NEL (WA 40,0003 4G x12& 1,920
- INEFE(RSIE) 40,000 x4H x12& 1,920




SN BUDSD
M. HMSAAH (HMDS)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
-y HZAYH| 130,000& *x4H x12& 6,240
=] 140,000 *35/40%x4H = 12& 5,880
- ZU22E 13,709
Z=35A| 2t 9,520& *30Al 2tx 1200 & x4H 13,709
- S8 EY 9,914
Z=35Al 2t
32,272,000& x40/ 35*84%*8%*4 H 9,914
-oEsy| 2,100
- =35A12¢ 50,000 «35/40%12& x4 2,100
— It Al 4,441
- Z=35Al2¢
32,272,000 /12%84%*86%+*1/30%1/7+120 Al 4,441
2he4
OAZSAEHAINMZLL(0IZ) 32,798
-=2= 1,992,000x12& 23,904
- JIEx2 (2 XH) 40,000& = 12& 480
- INEFE(BSIE) 40,000& =12 480
- JHZAH| 130,000& = 12& 1,560
== ]| 125,000 *35/40%12& 1,313
- ZU22E 8,610 1 x30A| 2tx 128 3,100
- SAI2LY 23,904 ,000& *40/35*84%*5% 1,148
-olE sy 50,0008 *35/40+12& 525
- I AlH|
23,904,000 /122 xB4%*86%*1/30%1/7*42 Al 288
2
Jl2& bl 87,540 90,708 N3, 168
Jl23Hl 87,540 90,708 AN 3,168
201 et A | 26,220 26,628 N 408
01 AFR2t2ldl 26,220 26,628 N 408
O=SAIEX F¢ 20,0003 x82 A x12& 1,920
OEH #*¢ 6,600
-T2y &l 132,000& =50 =4 CH 2,640
-ZdTgle EY 396,000 =104 3,960
OEMSgII242H| 10,000& x 128 x12& 1,440
OAZ2AZ22 XA S AHl 8,000& x5A] x12H x12& 5,760
OANZIAZ2 2 SAH(SE22NSHH)
8,000& x8Al x5H x12& 3,840
O2d=20UMsHH LA 60,000& *1Hx111 6,660
202 04| 57,120 60,480 A 3,360
01 2LHOHI 57,120 60,480 N 3,360
O2U o bl 280,000& *12H x12& 40,320
OAMZAEBIHAI MBS 2ol
280,000& x5 x12& 16,800
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